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There are two pacts of this question paper: Part P and Part 1 ga o o & &ty & s 1 %13 w1

Iiax't 1 (40 maiks) consists of questions on General Aptitucle. English language. General knowledge.
Current Affairs. ete. wnr ] (40 SI) ¥ STy S, St W, vy g, e st s v e 5

Part 11 (60 marks) consists of questions on Technical subjects. ¥ 11 (60 3ies) i sty fat m e fires )
Answer the questions in Hindi or English. weit a3 fe ar st 5t 30

Candidates will write their name only on the fly leal of the answer sheat and not any where clsc in the
answer sheets, 3=RA St AT Srerer s iR i v st v R, R it 7T 3t

In case of any discrepaney, the English version will be considered authentic. iy ot gy & awrer

A, 330 TERTOT Y WO FE s ' ‘*]1
Q. L Into how many regions have Indinn states been clagsified according to Official .
Languages Rules? HRATT IT=AT &7 Toremr Hast 3 IEER fhesy gt o aﬂf’vﬁT
o Irar g0 (I mark)

Al B: 2 N3 D: 4
Q.2 When is “Hindi Day” celebrated every year in India% ST3F & §< @rer "R ,
Caw" w9 m=mar svar 22 (1 mark) : 5
A: 09 Tebruary /99 T B: 09 September/ 09 Ridat 'E
C: 14 December / 14 REET D: 14 September/ 14 f{gsT i
Q.3 With regards to Rajbhasha, which region does Maharushtra belong to? TSTHET &
Hejtr ﬁ;ﬁ%Rl"E g &y O el & (1 masrk)
Al A/w B:B/'@ SRV D: None #r§ i
Q.4 When was the first train steamed off in Indin® W & Taeh 37 v = 7 4? (1
mark) ) )
(A) 1848 (3) 1853 (C) 1875 (D) 1880
Q. 5 What is the full form of MACP in Railway? e % MACP w1 ot &7 w182 (1 mark)
(A) Modificd Assured Career Progression «
(B) Modified Assurance Coach Policy
(C) Many Assurances Cargo Parking
(12) Multiple Action Carcer Part
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Q.6 Who is known as the father of Indian Railways? st r@d % firar & wo i f#t wwm
wmar &7 (1 mark) |

a. Loxd Dalhousic i€ sertsft

b. Jawaharlal Nehn s avet e

¢. Rani Laxmi Baij stit west amg

d. Mahatma Gundhi wrea wis

Q. 7 Which is the Joagest railway platform in India® S T & o 76 WIeHH &6 A1 7
(i mark)

A, Kharagpur giation @gg =wm

B. Gorakhpur station Trvag et

€. Chennai station ¥ %7

D, Hubbali station et wom

Q. 8 What is the name of the high-speed train project that will connect Mumbai and
Ahmedabad? T-=frg ¥ THESHT 7 @ AW A 9 gat I swReEn w Fish? (1 mark)

A. Rajdhani Express 1onrf waiy :

RB. Shatabdi Express ymed wrww

C. Tejas Express T w@@E 7

D. Bullet Train qA¢

Q. 9 Which state has tie largest population? fre T = s T At 27 (1 mark)
A. Maharasira a0 s , 4

B. Uttar Pradesh w0

C. Bihay R

D. Andra Pradesh sma T

Q. 16 The hottest planet in the solar system? Trss @ e w7 27 (1 mark;
{a) Mercury a4 (b} Venus 7% (c) Mars i (d) Jupiter geeata

G. 11 The code of ICF AC 3 Tier conch is ICF AC3 foar & w1 %1% E (1 mark)

a) ACCW by ACCN ¢) AC3T &) ACTT

Q. 12 A person crosses a 600 m long street in 5 minutes. What is his speed in km per
hour? U SUTEE GU0 7Y wa) Ted a1 5 FAwe & UR e §1 Jwen aife el
gfar ser & A1 &7 (1 mark) :

a) 3.6 )72 ¢y B4 d) 10

Q. 13 Excludiag stoppages, the speed of a bus is 54 kmph and including stoppages. it is

45 kmph. For how aany minutes does the bus stop per hoer? TTUST T GIgdT. Ue 59

&y o 54 Brelr wid wE § i wiw afka, 7w 45 e wity we &1 a9 vy g e
BT Tadl &7 (2 marks)
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i i o s, 815 in 3 years and
: ' it simple interest amounts to Rs. ; i
Q. 14 Calculate what sum of money i o180 A

to Rs. 854 in 4 years. HRROT w15t W Racelt eerafQy 3@ & €.
(2 marks)

Q. 15 In how many ways can the letters of the word 'LEADER' be arranged?
'LEADER' et % weatt &1 fovey afisi & wrateus @ s awa ) (2 marks)

Q. 16 Which institution in Indin is celebruting its 90th year on April Ist, 20242 7 5 S
| gvar | o, 2024 @ ener Yoat ad @ i) (1 mark)

A, World Bank far &=

B. Reserve Bank of India wrifr fer s

¢ International Monctan Fund siiwfr wpr @

D. Asian Development Bank ofrad ferg de

Q. 17 How many dots lie opposite to the face having three dots, when the given. figure is
folded to form a cube? St & ¢ g & v Tt ¥ fog vy e &, o <fw figelt awt R E
Ferefter femart fefg B E? (1 mark) '
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° o
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A2 B. 4 .5 D.6

Q. 18 Look earefully for the pattern, and then choose whicl pair of numbers comes
next: 28, 25,5, 21,18, 5, 14, ........ Yol &7 U & ¢, 3T R ot B weamat &r

ST T JST 3R 3Mar &) 28. 25,5, 21,18, 5, 14, wveveees {1 maark)
A 1LLS B.10.7 ¢y D. 5,10

Q. 19 Name 6 countries with which India shares its land border 6 277 I 7 Tarv f&7F wre
TRA AT Tl #r =rem awwar ¢ (3 marks)

Q. 20 Count and list all the triangles in the given figure. T 31T [ & el ﬁ‘{l}?ﬁ ar
A1 3 ey FY1 (4 marks) |
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Q. 21 Which symbol will be on the face opposite

to the face with symhot # ?
5 i%l‘caa'f?\' AP F [CERGT T e B B e BRI (2 marks) .
S e
s !Ei"“”
| | } ) 4 P
I | [ | — (- 4
(A {(B) § (< 8 () +

Q. 22 Find the greatest number that will divide 43, 91 and 183 so as 10 leave the same
remainder in each case. T§ T T TCIT AT BT BT 43, 91 3R 183 %Rr
TR #% W e RRufr & wee o &l 2 marks)

Q. 23 What is the greatest number of four digits which is divisible by 15, 2%, 40 and 75

is: T 3T A w99 Hear @y 15,253(;31"‘:7: 758 [ReTew %98 war 53

marks)

Q. 24 Qur professor teachies Mathematics ...... English (5 macl)

(A) acrass (B} besides . (€) beside (D) both
Q. 25 Please stop ........ §0 many mistakes {1 mark)
(A)to make (B) male (C) making (D) makes

Q. 26 Which couniry reéenﬂy sent its first contestant to the Miss Universe pageant? grel

o H wewr ¥ fAg m&m Wi 3 9= TEen wiaant Sem (1 mark)

{A) Mexico (B) Nicaragaa - {C) Malaysia {D} Saudi Arabia

Q. 27 Which is a synoaym for BRIEF? fisfeten i & 24 & BRIEF @1 Qiqar
(L mark) '

(4) limited {B) wide (C) short (D) long

€. 28 Find the correctiy spelt word. W 77 arar oreg ze. (1 mark)
{A) Efficient (B) Treatmeans (C) Beterment (D) Emplovd
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Part i ;
N 3 T‘
Q 1 What iu the process of cutting wood at an angle? QEE] ,EB’T o[ T THICT T syfoRa &l -
Fgaral & T (2 marks) - b
A: Chiscling WY B: Beveling Fafoiar €. Routing wicar D. Sanding €& g
Q. 2 Which of the following s used to drive nuily into wood? Do o & fas T 3
siad) 3F el ofer & Tav Rem Smer 7 (2 marks) 8
A. Screwdriver SIFEFT B. Hamwer getgr . Daill fer D. Suw @7 t
, /
Q. 3 Which position iy advantageous for easy welding? 3T © 59T o TIT @i o feufd {
FIeHEHE 82 (2 warks) ;
AsFla [ |@FTA B: Vertical / ST !
g i
C: Overhead/ 3NTES D: Hotizontal / &ifaeT £
Q.4 What is polarity? st w1 (2 marks) .
A: Circuit of current / H @ afre - :
B: Direction of current/ e # feaw
C: Open civeuit of current / H T g AfdE !
D: Opposite direction of curvent/ w4 fagf fom it
Q. 5 What is the defect in the weld joint shown in figure? femr & fewm e Tes g mr AT E?
{2 marks) : ;
At Overiap [ AEeH ;
B: Porosity / W
C: Reinforcement / W
D: Lack of penetration / %% ¥ignT
Q. 6 What is the name of the fiame shown in figure? faﬂﬁﬁmﬁv&ﬁ‘rmmm 27 (2 marks)
Forge b Con Juies Srvdinpe
‘2 7 P gty f—:;?‘”
- g o s
el ] o
A: Neutrnl flame e &t B: Oxidising flame / S ot ;
C: Carburising flame / FrIwHT wT D: Hydrogen Flame / ¥ T R
(). 7 What do you call the non - conted clectrodes! HFr wiee HFEESA v = @ £ {2 |
|
marks) . ;
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A: Raw Electrode / 7 ymgs B: Bare Electrode / &t sees
C: Base Electrade / v e D: Deep Penetration Electrade / #m ¥z wéimers

Q. 8 What is the reason for the defect of more spatter during are welding? AT T &
AW At St W {0 w wen @ ? (2 marks)

A : tusufficient root gap / Frmm ¥ v

B : Welding eurrent too high! afegm agr whw

C : Wrong angle of elecivode / 5rRTe @1 e S

D : Use of a very short arc length / @ oiér =i @ @1 5w

Q. 2 Which of these is NOT a type of welded joing? git ¥ wi v s g A e? (2
marks) "
A: Corner /r1 B: Tee /& C: Bead/dm D Lap /&7

Q. 10 Name the equipment given below 37 faa 7, swewt & 1w wamd (2 o avks)

]
5_&',‘3 »z”

‘ﬁfz}

{m-é‘
e \_,__.,

. SRR
e AR
.mww‘v‘zﬁa %{{4

RS

A: Tip cleaner fov &fm St ‘ S B: Spark lighter T wE
C: Electrode holder s W D: Earth clamp = ==

Q. 11 Answer the following i in br tefm@‘i { HAT T 397 S0 S marks ¥ 4):

(i) Explain ihe difference hetween o motor and a generator T F T & W1 SR Y 6

(ii) What is Stalnless Stecl? What is its composition? What ave its applications? Toreld el T Y
SYEH THAT T B A SN E

(ii§) Differentinte Detween Casting and Forging ST H7 R o alis a8 Fard,

{iv) What is ifouke’s law? Use a tsess-strain curve 1o assist yoor aus\vcv."g‘,{'c«'-?mﬁmwﬁt’ CaE]
2 1 T o fern ofeerr-ferele @en w1 IR o

Q. 12 Answer the milm\ma in detail Frfaios o frmm o oo &S (10 marks = 2):
(i) Befine welding, Name and driefly describe some methods of welding provesses. Also-nauie 4
welding defects, 0 ieantia o7, i s i 5o fafrm & T s weaw 3 i # =

(3 Discuss the four-stroke petral §C engine, its parts and its working eycle/principle. R8I
TEIeT IATEHT E31, §5Ih ATIT S0 3e7eh FI =22h Toegia W == s

cxEMD OF THE PAPER®*
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